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The awareness of XM, etc. — 9912 IRMIYT NPT

OVERVIEW

The 770 writes;! X 7820 7772 12232 IR A8AY 770 12232 I8 XY 727 922 van WK wo3 iR
A3 XRYY WK INNRY 257 DTN NRHPI Y37 02 IR OWR) KDY XIT) A0 D2Y3) ROV YW 2212
QWR) Y70 X1 121 0993 The "1 derive from this? that if a person became Xnv and
ate W2 o°wIp or entered the AMwa wipna 03, he is 271 a (771 79W) 1299, They
also derive? that it is necessary that initially the person was aware that he is Xnv
(and that these are 0*w7p or this is the p"»7°2) and then he either forgot that he was
Xnv (and ate °wTp or entered the P72 — this is the 2°nw), or (he remembered that
he was Xnv, but) he forgot that these are o°w7p or that this is the p"ni°2 (this is the
¥R 17w).° Our MooIN explains why the 7awn states 8= MY>7 instead of Mnoys.

n1voIN asks:
— 7190V DNV MNYYN 2IND NI INNNI 9NN ON)

And if you will say; and why does not the 71w» teach, ‘the concealments are

two which are four’? nmooin explains what are these Mn?y71 '7 0w o°nw; there is -
— YTPN 0YYN WP OYYN 71 )NY WIPNY ©39) IN YTP YIN) NNNMIV DYYN

A forgetfulness that he was Xnv and he (1) ate w72 or (2) he entered the n"
wpni, these are the 0°nw; which are four (remembering that he is ¥nv, but) either
(3) forgetting that this food is w7, or (4) forgetting that this is the wTpnr n°2.

An advantage® in stating Axm107 MY as opposed to XML MY is -

— TN 1999495 19990 2395 231 792D 81 NDT 99V YNN NN
That the 73wn would be properly understood, for the X723 there® would then not
be able to ask, ‘but these are eight (and not four)’, as the X asked there

U320 v

23,1 mynaw.

3 See TIE the previous my1aw 1"7 noon footnote # 2.

4R,7 nyaw.

5 pwIp wIpn nRM is the only 127p 21 where a 79102 Av 7 is (also) required. All other n1127p merely require a
02 7Y 7, that he becomes aware that he transgressed awa.

6 See M MR that the main advantage in stating NMM9vi over My>7 is that it is that the mn%w: are the main cause
why one brings a 127 not the my>7> themselves. N0 is now adding that there is an additional advantage, w">y.

7 There is the M0 72°10 Av>7> by wIpn 09w and by ow1p 0w (which are four My>7°) and the M1 7210 7w of WIpn
WIRY by nxmw 0%y (which is an additional four) for a total of eight my7°.

82,7 mynaw.
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regarding ny>7>. We would avoid this question if we would count the nn%y7, instead of the
myT.

nBoIN answers:
— (3,1 9772 719) JONN YIDNTI MY VPIT Y YN

And one can say; that the 71wn mentions nMy>7> (and not Mn7yn) as the XM

explains there that the x1n of the mwn only -
= YNP RY NNINN DO NIRRT RNINI PUNP NDID NNNN DI ININDT RNINP MY

Mentions the initial awareness which is not found in the entire 771, however
the Xin does not mention the final awareness which is found in the entire 790 -

— YUNP 129D 21D 10T RNINT MYT? 933 ON
Or you may also say; he mentions only the final nw>7> which cause that a 3299
be brought.

mooIn responds to an anticipated question:
— YYNP RNMNP M7 NIWrD NONND

And according to that view that the Xin counts the Xn»np NS by axmw, it is

understood that -
— DAY MW MY MYT> NAYI MY 232) b 7Y NY

It is not applicable to state this regarding myaw and naw that the myiaw nwys7s

and the naw NPT are ¥2R 17w °nw, because regarding NM¥aw and naw there is no such

concept as Xn*np My 7, however -
— MPPT 102 NN KD 2XUNP 129D 7D 91199197 RNXINA NPT 9INPT 1) NaYD T1IND)

Even according to the other view which states that the mwn (regarding nRna1)
counts the Xn>an2 nys7 which cause the 277 21°1, nevertheless the Xin does not

state N 7> by nw1aw and naw.'° The reason is -
— 158)) N9YDIND NNOVN YAIN 1Y DINY PIPNT 1D

Since the division of ¥39R 37w 2°nw can be found in the actual types of the
prohibitions, without resorting to the my>7. We would rather mention four different cases

 The X»3 there is responding to the question which 9010 cites here that seemingly there are eight my>7 and not
merely four. The X3 offers two answers; we either count only the first ny°7 since it is a novelty which is found
only by YW wpn nRkmv; or we count only the final My>7> which obligates the transgressor to bring a 127p. This
very same answer will also explain why he mentions nw>7° instead of N> (either because it is a w17 [referring to
Xn*np M7, or because it causes the 1277 2vn [by the Xn*na nmy>7>]) This cannot be said regarding the nnoys;
there is no w171 (for every nRun requires a 07v:7) and it does not cause a 127p 21 (unless there is a 7y°7 afterwards).
19 See ‘Thinking it over’.

! Regarding myaw and nmaw there are four different cases; 2"7yaT w7 70IOM ARXIA, and [R277] 22002 vIa» myaw
together with 12vw>. It is not merely the different My>7> that compose the '7 17w "2 but rather the occurrences.
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than four different types of awareness and/or forgetfulness —
$AYN HMNM NON NI 1PN YAIN 1Y DINYT PIYINA ANV 3) AN

However this is not so regarding 82 where the ¥a9x 37w 2°n2 can only be
accounted for if we take the nIw7" into account. '?

SUMMARY

We would rather mention m¥>7 (than mnbyn) either because the Xn»np NMy>7° are a
W71 or because the Xn» N2 My>7° cause the 127 211, Wherever possible we would
prefer to mention a differentiation based on cases, rather than merely a
differentiation based on my>7.

THINKING IT OVER

nooN explains why the mawn does not mention my*7 by nmwaw and naw."
Seemingly there is a difference between nXmv and 2wy Myaw. By axmv it was
necessary to preface the word 8= either with My or mnyn. 4 The mwn chose
my>7 as MvoN explained. However by my1aw and naw there is no need to mention
my7. By myaw it is sufficient to say '7 1A% '2 ny1aw; saying "2 ay1awn My 7 would
be adding a word. Similarly by naw the question seemingly is that it should say
"2 nawn MRy My 7,1 and again we are adding a word. How are we to understand
nvOIN question?!

12 Regarding YW1 wpn Nk there are only two cases; he either entered the amwa w7pn or ate 3w2 o°w7p. The only
way it can add up to four is if we differentiate between the (mn2vm) My 71> whether he knew and forgot if he was xnv
or whether he knew and forgot that this is w721 w7pn.

13 See footnote # 10.

1419 37w "2 Xm0 is much too vague, there are much more than four nxmw!

15 The question cannot be that it should state nawa mMy>7 instead of N2w: MR, because the rule of "7 17w "2 is (only)
by nawn mx°¥’ and not by naw in general. See 0"n. [See ¥"¥1,¥ MR 1"17 TIRT R"wAnR.]
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